R EOB=EK YT

* [FRA—FO—RATT

IBfE K4 EOUT EIN Total Hdcp  Net R. 054£05803H
Bl BE RiE | 46 [ 43]  89] 192] 698

HEH PN = | * 49] 43]  92[ 216[ 704]
3 AR E 43] 47]  90] 192] 708
4 RE B E 43| 44] 87| 156] 714
5 ki EB | 38[* 42] 80| 84] 716]
6 BE EMF | 42[* 49]  o1] 192] 718]
7 WH EA E 47| 48] 95| 228] 722
8 ME E=F E 39] 41 80] 72] 728
9 = | 43]* 42] 85| 120] 730]
10 MRE (S E 43] 42] 85] 120] 730
11 IBH H— | 43]* 41] 84| 108] 732]
12 2% X5 | 44 43]  87] 132] 738
13 ERK BESR | 43 [x 43]  86] 120] 740
14 - E 45| 47]  92] 180] 740]
15 KFHx EMF E 43] 41  84] 96| 744]
16 it F0F | 48 % 42] 90| 156] 744]
17 WWE & E 46| 44] 90| 15.6] 744]
18 H#E B E 47| 49]  96] 216] 744
19 I A E 4] 42] 83| 84 746]
20 FiE =F | 45 % 44] 89] 144] 746
21 £k FE | 46 [* 49] 95| 204] 746]
22 #WH* & E 47] 45]  92] 168[ 752|
23 HBH BB E 43] 42] 85| 96] 754]
24  FLE H#X E 50 47 97] 216] 754
25 iR | 43 x 47] 90| 144] 756
26 LT #E | 39* 43] 82] 60] 760
21 {ERKR UV&H | 53] 51 104] 276] 764
28BS #— | 50 [k 47]  97] 204 766
29 HFHE % | 51 55] 106] 288] 77.2|
30 EAKR H<H | 48] 51 99] 216] 774
31 fER A E 50| 53] 103] 252] 718
32 =8 2 E 50] 52] 102] 240 780
33 LA EH# E 52] 59] 111] 324] 7886]
34 R E— | 56 48] 104] 252 788
35 Y E 60| 49] 109] 288] 80.2]

&  mour P 1
|H0LE®2©@©©®89 DO D[B][B][B[16][17]18 Total

AR 4 | 5] a4[3[4]a[3|5[3]4[4]|]3]|]5[4]4]3[4]5/[36]72
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R EOB=EK YT

* [FRA—FO—RATT

IBfE K4 EOUT EIN Total Hdcp  Net R. 05405 038
36 HE E E 51] 50 101] 204] 80.6]
37 =R BIE | 45 48] 93] 120] 81.0]
38 kA M= E 49| 58] 107] 252] 818
39 HeH ZEZ | 58 [* 48] 106] 21.6] 844
&  mour P 1
|H0LE®2©@©©®89 DO D[B][B][B[16][17]18 Total
AR 4543 4[a[3]5[36[4]a]3[5]4[a]3[a]5]36]72
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